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¥ | Y. chip Y. port Y. components ¥.resource 4. execute #. application A
¥. motion A. error 4. log on V-. infrared \\. account  YY. browser
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\\"._connected a. trT% data which is presented to the computer
\f. input b. save
V4. read/write head c. without the use of wire R
\#. mini d. by itself
Yia | V. auto e. floppy disk \\ B
\A. pointer f. recording head N
V4. store g. compressed music file 3
Y.. mpy h. an arrow, controlled by the mouse
v). email i linked 3 \
YY. wireless j.small” &
k. to send a message to another person via the Interhet
(0305 + YD geaeeo graly y2).0uiS cyaze FaISEL, c«{m)él\;’ Moz g TIUE b 1y ons yo ko
rv. Human beings canrwork.much faster than computers if thewant to.
vf. The CPU directs and\c})ordinates the activities taking place in the computer system.
v&. Hard disks are rigic}rotating disks.
v#. The hardware can work without software. N
vv. A protective filter cuts down the ELF emissions. o X
Y| YA Systemhtilities improve a system’s performance . > C
r4. You need to have a sound board on your PC tC{hear speech and music. N
v+ Computers understand symbolic Ianguages\ N
vy Nodes are computer devices interconhectedrin a network.
vy. Palmtops are a type of portable computers. N
vv. Today most letters and reports.are typed by word processors. \
v'¥. You should stare at the screen for long periods of time.
(0305218 geamo gl 18) 38 03> JB Sl 3 1) camslio Slods
applet—peripherals —passwords—converts—off—supergbm putesiecess .txt
va. With the help of computers, you can easily................. the Interne\t\
v#. The digit “+” in binary notation means .................. .
vv. The physical units attached to the computer are called the................ .
f YA. A computer higher in scale than any other is called...\. ............ D
v4. Any part of the program can be protected by user=defined................. .
f.. A small program written in Java is called.........20...... g
f1. A speech-recognition system................. speecm into text .
fY. One of the most common formats for text files are............... .
(0305 +/ Y0 gms Geasly ). wiS Ll 1y canwlio iy 35
fy. Computers can.................. people in routine tasks .
¥ a) send b) replace c) read d) write E
ff. Which of the following items is permanent memory?
a) ROM b) RAM c) CPU d) main board
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f&. What is called setting tracks and sectors on magnetic disks ?
a) listing b) flashing c¢) formatting d) managing
fr.Youcan.................. files if you delete them by mistake .
a) data b) programs ¢) information d) retrieve
fY. The ..o shows you the programs that you are currently running .
a) taskbar b) start c) software ‘d) Recycle Bin
fA. Files can easily be................. by adding new information or deleting the old one.
N
a) insert b) append ¢) updated d) word
fa. Fields are grouped together inta...................
N
a) records b) queries c) data d) information
&+. What is called a way of dealing with bandwidth_problems when you download video
from the Internet ?
a) playing b) fetching C)Streaming d) pinging
). What is called an area in a computer’'s memory where information can be stored for
a short time ? N g
a) memory card  b) main memory C) register d) buffer
OY. is the techniques of detecting, diagnosing, and correcting errors-ar “bugs”
may be in programs . y
a) debugging b) algorithm c) transport d) coding
ov. The.............. translates source programs into a lower-level language.
a) software \l:\>) processor c) editor d) compiler
OF. e, languages are problem-oriented . 4
a) Low-level b) High-level ¢) machine _ d) human
80. A netwo\rk in a small area topology is called................% P
a) LAN b) MAN c) WWAN d) WMAN
&s. Riber-optic cables are safe because they do no\t ............... electricity .
é) spend b) carry 3 ¢).solve d) wear
aY. Some pocket-sized PCs are...........dL /%
a) hands b) head- mounted C) pen-based d) head \
&A. In the future, people can even.................. the Web by speaking to the computer.
a) surf b) write c) print d) read
B Gl SN EMoz b JolS' j9b 49 5 ¥ 13u &
54. What does WWW stan{j for ? ¢.va) \\
N
#+. What does DTP stand for? {.4) >
¥/ | #1.What does WAP stand for ? {va) F

#v. Explain the flowchart . (-.va)

$¥.What is the multimedia ? ¢.va) ~

Y.

0 yod il $ g0




e Mgy el YomolS : i wuadS 33 1wy 2 oybxiel CYIaw gusuad gloial,

) tasbodlani | YYAA/+ Y/ oV 1 ol &0 dhwgio (w3900 @gw Jw

90l CalS inly g (homiaw 35 o

http://aee.medu.ir

1PAA Ul olo 318 33 Cagh 13 ;guiS ol paw 3131 ylikbgls g YL, 3

5 oo owai gl @9,
L 003 /YD o o
slml —t o8 )5 -y il -\
v Jﬁ)lfcgséﬁ)\;—9 O);\ﬁ\ -0 c.u—f A
Ol 341y -9 o5 —A oS -y
98 —\Y ol — 1\ 08 093k -\ s
008 /YD o Rl B
Y/o AR V¢ . a Vo f \'l_j \Wv.d B
YA h \S. b Y._g YV. k YY.C
0 i /YD o Ry p
v | Y. False Y¢ True Ye.True Y. False YV. True YA . True C
Y4. True Y. False ¥\. True ¥Y.True ¥Y¥.True Y¢ False
c 003 0/ e c«ab,ﬁ
£ | ve access Y1, off YV. peripherals YA, supercomputer D
¥4, passwords ¢+ applet £\, converts £y, txt
6 YD e & 4 2
£ | fv.b ff.a fa.C fs.d fv.a fA.C fe.a d+.C 5. | E
d aY. a av. d af.b 88. a 8s. b av.c dA. a
Wik (0 3D b oo lgiul Lo SY 9T OVl gu Gl e /Y0 oo S ja S5 8Y 550 5 08 Ul sl
4, WWW : (World WideWeb ) (+.V#®)
“..DTP : (Desktop Publishing) (:.¢)
. WAP : (Wireless Application Protocol ) (+.V¢)
v/e | 1Y.A diagram showing thelogical order between the various partsof the program is F
called flowchart. (+.vV®)
¥, Itistheintegration of text, sound, graphics, animation, and movies on the
computer
screen. (+.Ve)
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